PRODUCT
INSTALLATION

HeB GUIDE

Product Size:100*64*105.5(128.5)CM

A Note! Please beware of children swallowing accessories!

@ Accessories |iSt(subject to actual size; each type of screw is equipped with spare screws;
unit: piece/piece/set)

table legs*2

=\

—

Desktop board*1

Table leg connecting board*1

L7

Drawer top board*1

Drawer bottom plate*1

>

Large layer board *1

o

=

The left and right side

\

Large baffle*1 | panels of the bookshelf*2 | Drawer back panel*1

Iron movable door*1

~

Hexagonal edge

Back iron plate

Booksmelf iron

Phillips screwdriver*1

left and right

strip *1 of bookshelf*1 frame*1 corner code*2
lock handle *23 three-in-one screw *5 Two-in-one screw *18 magnetic *1

awl nut *5 M6*14 screw*17 M6*30 screw*5 M4*10 screw*3
3.5%12 screw*3 M4*12 screw*2 lift regulator *1

—

white storage box*1

&

layer nail
door handle*1

board *3

N\

rubber stopper*2




‘;\ﬁ Installation diagram (subject to actual size)

The groove of the awl nut
must face qutward

(1) Use 8 M6*14 screws to install the left and right table legs on the table top
board assembly table. (The long end of the leg is in the same direction as the handle);
(2) 1. Unscrew the fixing pieces at both ends;
2. Insert the hexagonal ribs into the hexagonal holes of the left and right
table Iegs (when passing through one of the legs, pass through the fixing piece at the same time);
3. Push the fixing parts to both sides and tighten the fixing parts;
(3) Put 4 awl nuts into the lower baffle plate of the table leg, and then use 4
M6*30 screws to tighten to the awl nuts (note: the lower baffle hole is ahead)
(4) Bookshelf installation:
1. Install 2 ply nails to the movable door, and lock the door handle with 1
M4*12 screw;
2. Use 16 two-in-one screws to install on the side plate of the bookshelf,
and magnetically lock with two 3.5*12 screws;
3. Install the wooden boards in the order of installation in the figure, and
tighten all lock handles.

(5) 1. Install 4 three-in-one screws on the iron frame of the bookshelf .
(note: the three-in-one screws are slow tapping with fine teeth);

2. When installing the large shelf and large baffle, use a two-in-one
screw to lock the middle and tighten the lock handle;
3. Install the back iron plate with 4 M6*14 screws;
(6) Use 4 M6*14 screws to install the left and right bookshelf corners on
the side panels of the bookshelf and tighten.
(7) 1. Put the bookshelf on the desktop and tighten the bookshelf knob;
2. Put the storage box on the back iron plate;
(8) 1. Use 2 M4*10 screws to install the hook on the desktop assembly;
2. Put 2 rubber plugs into the hand hole, the table installation is
completed;

Reminder: When the table needs lifting adjustment, first take out the
rubber plug and put it in the lifting regulator.






